Math 111

10-2-06

Worksheet for 2.2:  Guessing Limits

1.  Consider the function 
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.  We are going to investigate the limit of f (x) as x approaches 0.

a.  Use the TABLE on your calculator (set independent to ASK, dependent to AUTO) to fill in the following table of function values. 

	x
	f (x)

	1.0
	

	0.1
	

	0.01
	

	0.001
	

	0.0001
	



Based on your results, guess the limit of 
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b.  Use the TABLE on your calculator (set independent to ASK, dependent to AUTO) to fill in the following table of function values. 

	x
	f (x)

	-1.0
	

	-0.1
	

	-0.01
	

	-0.001
	

	-0.0001
	



Based on your results, guess the limit of 
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c.  Sketch the graph of 
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2.  Consider the function 
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.  We are going to investigate the limit of f (x) as x approaches 0.

a.  Use the TABLE on your calculator (set independent to ASK, dependent to AUTO) to fill in the following table of function values. 

	x
	f (x)

	1.0
	

	0.1
	

	0.01
	

	0.001
	

	0.0001
	



Based on your results, guess the limit of 
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b.  Use the TABLE on your calculator (set independent to ASK, dependent to AUTO) to fill in the following table of function values. 

	x
	f (x)

	-1.0
	

	-0.1
	

	-0.01
	

	-0.001
	

	-0.0001
	



Based on your results, guess the limit of 
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c.  Sketch the graph of 
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